Algebra in Action Worksheet (Answers)

1.
2x + x = 210
      3x = 210
 3x / 3 = 210 / 3
		        x = 70

The smaller number is 70.

0. 
		3x + x = 500
		      4x = 500
		 4x / 4 = 500 / 4
		        x = 125

       b = 3(x)
       b = 3(125)
       b = 375

 The bow costs $375.

0. 
5x + x = 522
      6x = 522
 6x / 6 = 522 / 6
        x = 87

         j = 5x
         j = 5(87)
         j = 435

 John has $435.00.






0. 
    64				         64 = 7x + x
    /  \ 				         64 = 8x
   /    \				    64 / 8 = 8x / 8
7x     x					8 = x

 The smaller part is 8.

0. 
      24 = 2x + x
      24 = 3x
 24 / 3 = 3x / 3
        8 = x

 The man walked 8 miles in the afternoon.

0. 
                           72 = 8x + x
      72 = 9x
 72 / 9 = 9x / 9
        8 = x

         t = 8x
         t = 8(8)
         t = 64

 Matthew paid 64 cents for the thread.













0. 
    672 = 2x + x
    672 = 3x
          672 / 3 = 3x / 3
    224 = x

        b = 2x
        b = 2(224)
        b = 448

 There are 448 boys in the school.

0. 
    250 = 11x - x
    250 = 10x
        250 / 10 = 10x / 10
      25 = x

       N = 11x
       N = 11(25)
       N = 275

 Therefore, the first number is 275.




















0. 
   	x + 12 = 3x
    x + 12 - 12 = 3x - 12
         x = 3x - 12
  x - 3x = 3x - 12 - 3x
  x - 3x = -12
      -2x = -12
-2x / -2 = -12 / -2
         x = 6
        
         h = 3x
         h = 3(6)
         h = 18
	
	DC
			x + 12 = 3x
			6 + 12 = 3(6)
			      18 = 3(6)
			      18 = 18

 Henry gathered 6kg of nuts.

0. 
  		   x + 80000 = 5x
 	 x + 80000 - 80000 = 5x - 80000
         		       x = 5x - 80000
 	           x - 5x = 5x - 80000 - 5x
                      x - 5x = -80000
                          -4x = -80000
                    -4x / -4 = -80000 / -4
                             x = 20000

        h = 5x
        h = 5(20000)
        h = 100000

 The house costs $100,000.






0. 

x + 48 = 3x
    x + 48 - 48 = 3x - 48
        x = 3x - 48
 x - 3x = 3x - 48 - 3x
 x - 3x = -48
     -2x = -48
          -2x / -2 = -48 / -2
         x = 24

        a = 3x
        a = 3(24)
        a = 72

DC
x + 48 = 3x
                   24 + 48 = 3(24)
      72 = 3(24)
      72 = 72

 Mr. Meaner is 72 years old.



0. 
   4256 = 37x + x
                         4256 = 38x
       4256 / 38 = 38x / 38
      112 = x

         n = 37x
         n = 37(112)
         n = 4144

[bookmark: _GoBack] The larger number is 4144.
